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O Shode the bor models to represent the froctions.

q) Shode f of the bor model.

Shode f, of the bor model.

Whot do gou notice?

O Complete the equivolent frqctions.
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O shode the bor models to represent the equivolent froctions.
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O The bor models repYesent froctions.
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Which is the odd one out?

Whg do gou think this?

Motch eoch bor model to its equivolent froction.tfltr
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Tick the bor models thot con be used to show o froction

thot is equivolent to !-
4

Shode the bor models to support Uour onswers.
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O Shode the bor models to complete the equivolent froctions.
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